BEEE113 2Py FIE CAT

(SF4EE)

BZEAEFETCORENFERLMNFER=
(E+nlZ x 10", {5 % (FE+3IL X 1000 ELKTY . )

#hE

T
-

HRIE TR

%

FH=E (ke/5F)

EEE

IS A

Z Dt
JEEH

RE
E=

itimE

4.0E-1

9.1E+1

1.5E+1

9.0E+0

115.0

FHRE

EFR

EHE

5.0E+0

5.0

MER

T2

8.9E+0

3.7E+1

5.6E+1

4.1E+0

106.0

BER

7.7E+0

3.4E+1

1.7E+1

8.4E+0

67.0

1.4E+1

3.2E+2

2.5E+2

6.1E+1

646.0

mAR

7.3E+0

1.1E+2

4.6E+1

3.5E+1

196.0

BER

4.2E+0

1.2E+2

5.1E+1

2.6E+1

201.0

BER

6.4E-1

2.5E+1

1.4E+2

2.4E+1

185.0

TER

6.5E+0

1.4E+2

7.8E+1

5.6E+1

278.0

R AD

1.3E+1

13.0

LIS

2.8E+1

28.0

HRE

3.0E+0

3.8E+1

3.0E+1

8.9E+0

80.0

SR

1.0E+0

1.0

AIE

BHE

_._k_._k_._k_k_k_k_.
olo|dlo|als|o|d|=lolC|® || F (@]

T

1.2E+1

6.3E+1

8.0E+0

2.5E+1

108.0

N
o

EHE

N
—_

i B 1R

6.9E+0

2.8E+1

2.8E+1

1.5E+1

78.0

N
N

B R

6.0E+0

6.9E+1

1.8E+1

2.5E+1

118.0

N
w

FHE

1.9E+0

3.2E+1

3.0E+0

1.6E+1

53.0

N
~

=8

7.0E+0

7.0

N
(S}

HER

N
[=2}

RADAT

N
~

KB AT

N
[ee)

EER

N
©

=RR

W
o

IR

w
—_

ERE

1.5E+1

6.8E+1

2.0E+0

1.8E+1

102.0

[+
N

ERE

1.0E+1

1.0E+2

3.8E+1

150.0

w
w

fi L1 R

2.7E+0

2.6E+1

1.0E+0

2.1E+1

51.0

w
E-N

LER

1.8E+1

4.4E+1

4.0E+0

3.8E+1

104.0

w
(&)

walE

w
[=>}

mER

w
~

EIE

4.7E+0

3.1E+1

1.4E+1

50.0

w
o«

ERE

wW
©

=HE

N
o

Bl

N
=

EER

N
N

N
w

AR

2.0E+1

1.1E+2

3.0E+0

1.7E+1

153.0

N
N

OB

N
3]

iR

2.0E+0

2.0

N
o

ERSR

4.2E+0

4.0E+1

2.0E+0

5.9E+0

52.0

~
~

aidido

25

1.5E+2

1.5E+3

8.0E+2

47E+2

2,949.0

EFE . TO7IAN) RS ARRER AT L

BERRAT




